T
A nght VIEW DRS - Pressure confrol with load sensing A
The load sensing control works as a flow confroller controlled by load pressure
and coordinates the pump displacement fo the quality required by the acfuator.
7005 The pump flow depends on the external orifice (control block, throttle valve)
— 68L 6 switched between the pump and the actuator, but is not affected by the load
pressure over the whole range below the pressure signal value.
404 3
2803 The valve compares the pressure upstream of the orifice with the downstream
' : pressure and keeps the pressure drop (differential pressure Ap) occuring here,
B 21 BuCk VIEW and hence the flow, constant.
159 If the differential pressure rises, the pump is swivelled back (direction Vg min). If
the differential pressure Ap drops, the pump is swivelled out (direction Vg max),
[; : unfil balance is resfored in the valve.
DPyrifice = Poump = Pactuator
@ L A\ (1) The orifice (throttle valve) is not included in the supply
36 “
C
" 12 Bgck . / :
Al view Al e
N ﬁ - @ 1 -t == - @ ﬁ
1 \&// 1
Ni)
— O o~
>
— '_Q
Na) >
® 5
2245
2823 Mgt | M1 M2 | Mp2
4023
193 /
E
SR —
S
. | =
. Top view <
t} \\ / .
* 7 Displacement 1927 cc/rev
342 01 Connection flange SAE J74L (4 holes)
F : Drive shaft DIN 5680 (W50x2x30x24x9g)
T2 X1 §S T1 Rotation speed mn_ S
I = N | o L\ — : mox_|2500 RPN
..... T i %/_/ I TF— Y Rated Pressure 350 bar
o — B 1:] & l_—_l B Peak Pressure 400 bar
of | 3o 365
- = b i Max pressure case L bar
B1: B2 AT = Suction pressure 35 bar
ET% 7 @ - —= @——@ gl Seals material NBR
G | iﬂ? =
i - Metoda zabrazovani - {islo verze
4| o " & & E} @ E—f : .
[sal N = i % 5 3 B
= 1 ,i 2 % 5! i ISO-F 2 8 0071 1902000414
""" | vl 2 g | I'l' LI -
e T T A ey ey e (- - v e e N Vieabecny paramefr Rozmér | Vypracoval Lo Dafum )
Yy 000000 b / \i‘ﬁ\ \ — B1, B2 Service port (with charging pump) SAE11/2 drsnosti pyuvpr[hu Ra[um]  [mm] Mgtygg Bunta hs 102021
S Suction port (with charging pump) SAE 5 ottty o ey ez, | - G’Q
T1 B1 (1 ) X, G2 B2 T2 T.T2  Cose dran M33x2; 16 deep o i
’ Y RI.R2 __Ar bleed, ol dran MBI B dED | | vovmey etz | J20VLO 190DRS /10R-NZD 24N0O |
M1, M2  Gauge point positioning chamber M12x15; 12 deep '
. . 8 lkavé rozméry podle © n Hmotnost kgl Méfitko Typ vjrobku Cislo vikresu Revize
Mg, MB2 G.UUQE point for service port M12x15; 12 deep >05 D>“; >6 >ZDD dfn?flsn[n] 2)7160530 > 2000 " VlZ TABULKA
X1, X2 Pilot DUI‘T M14X15 12 dEEp o3 | <6 |s 30|20 [< 400 | 1000 | <2000 < 000 SEE THE TABLE
G Control pressure part (confroller) M16x15; 12 deep | |[-or[-or[-02]-05 [ o5 [-08 [212 [ <2 [0 -em Forndt vikresy D BT

1 2 3 A 5 6 | 1 | 8 | 9 10 i | 12




